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1.

Give the standard form of the equation of the
line that has a slope of 3 and contains
(0, =7).

[A] 3x—y = 7
[C] 3x—y = —21

[B] 3x+y =7
[D] -7x-y =3

Give the standard form of the equation of the
line that has a slope of 7 and contains
(0, -3).

[A] 7x+y =3
[C] 7Tx—-y =3

[B] -3x-y =7
[D] 7x—-y = =21

. Give the standard form of the equation of the
line that has a slope of —4 and contains (0, 7).

[A] 4x+y = =28 [B] 4x-y =7
[C] 4x+y =7 [D] =7x+y = 4

Give the standard form of the equation of the
line that has a slope of 5 and contains
0, -4).

[A] 5x—y = =20
[C] 5x+y =4

[B] —4x-y =5
[D] 5x—y = 4

NAME:

5. Give the standard form of the equation of the

line that has a slope of 6 and contains
(07 - 2)

[A] —-2Xx-y =6
[C] 6x—y = —12

Il
)

[B] 6x-y
[D] 6x+Yy

Il
\®)

. Give the standard form of the equation of the

line that has a slope of -9 and contains
(0, - 6).

[A] 9x+y = -6
[C] 9x+y = 54

[B] 9x—-y =6
[D] 6x+Yy

Il
O

. Give the standard form of the equation of the

line that has a slope of 9 and contains
(0, —38).

[A] 9x+y = 8
[C] -8x—-y =09

[B] 9x—y = 8
[D] 9x—-y = =72

. Write the standard form of the equation of the

line with slope 0 passing through the point
(=3,-2).

. Write the standard form of the equation for

the line that passes through the points
(-4, —4) and (6, 7).
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10.

11.

12.

13.

14.

15.

Write the standard form of the equation for
the line that passes through the points
(—4, —7) and (5, 1).

Write the standard form of the equation for
the line that passes through the points (-7, 1)

and (2, 3).

Write the standard form of the equation for
the line that passes through the points
(=2, 3) and (7, 7).

Write the standard form of the equation for
the line that passes through the points
(-3, -5) and (8, —3).

Determine the standard form of the equation
of the line that contains (—7, —9) and (5, 3).

Determine the standard form of the equation
of the line that contains (2, 8) and (-8, —2).

16.

17.

18.

19.

20.

NAME:

Determine the standard form of the equation
of the line that contains (—1, —3) and

(-2, -4).

Determine the standard form of the equation
of the line that contains (-9, —8) and

(—4,-3).

Determine the standard form of the equation
of the line that contains (2, —1) and

(—2, -5).

Determine the standard form of the equation
of the line that contains (5, 9) and (-6, —2).

Determine the standard form of the equation
of the line that contains (-6, —5) and

(—8, 7).
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A

C

C

D

B

A

B

y+2 =0
I1x-10y = —4
8x -9y = 31
2X-9y = =23
4x-9y = =35
2x—11y = 49
X—-y =2
X—y = -6
X—y =2
X—-y = -1
X-y =23
X—-y = -4
X—-y = -1
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